Simple Interest
Exercise 12A

Simple Interest Formula
I=PxRxT

Where:
I = the Interest Money created in dollars
P = the “Principal” starting amount of money
R = the Interest Rate per year (in decimal form)
T = the Time the money is Invested,

or Borrowed, in Years

_PxRxT A=P+ Si|

SI= 100
_SIx100 _ SIx 100 _SIx 100
P& RxT ¥N PXxT T PxR

where,
Sl = Simple Interest P = Principal R=Rate T=Time A =Amount




Q1l

Answer:

P —Rs. 6400, R — 6%, T — 2 years

PxRxT 00 2 o 2
S.L == ="
— Rs. 768
Amount=P+S.I.
—=6400+768
— Rs. T168
Q2
Answer :

P =Rs. 2650, R = 8%, T=2—; years =% years

PxRxT  2650x8x5
S.L = xm; - 1ﬂ1;;;
= Rs. 530
Amount =P +S.1.
=2650+530
= Rs. 3180
Q3
Answer:

= - years

P =Rs.1500, R=12%, T =3+ 5 = &
Px<RxT 15001213
S.I.:%—$

100%4
=Rs. 585
Amount=P+5.1.
—=1500+585
—=Rs . 2085
Q4
Answer:
P = Rs. 8600
R=75%
T = 5 months =% years
_ PxR=T
S. 1= %
_ 9600x15x5
T 10x2x12
= Rs. 300
Amount = P+ 5.1
= 0600+ 300

= Rs. 0900



Answer :

P:Rs.50[]0,R:Q%,T:14ﬁdays:% vears

S I— PxR=T 50000146
T w0 100x365

=Rs. 180
Amount=P+S5 .I.
=5000+180
=Rs. 5180

Q6

Answer :

P — Rs. 6400, S.I. — Rs. 1152, R— 6%

T— SIx100 _ 1152 x=+-6—6
— PxR T gapxb
_ 1152
T
= 3 years

Q7

Answer :

P —Rs. 9540, S.I. —Rs. 1908, R — 8%
T — SLx100 _ 1908x100

PxR 0540 %8

=z

=2

=

years

Q8

Answer :

A

A

P — Rs. 5000, A—Rs. 6450, R — 12% ‘ (b’&\
SL=A-P
— 6450 — 5000 £ \ N

&

»
2

= Rs. 1450 \ N
T— S.1x100 _ 1450 100 » W
- PxR 5000%12 @‘
0\

%

Q9

Answer : e
P = Rs. 8250, S.I.:I% , T =2 years

BR— SLx100  1100x100

PxT — 8250x2
1100
=== =6.67%
Q10
Answer :

P=Rs.5200,S.1=Rs. 075 |[T=21 years=3 years|

_ SLx100 _ 975x100x2
PxT ~—  5200x5

__ 195

T

=7.5%

Q11



Answer :

P —Rs. 3560, A — Rs. 4521.20, T — 3 years
S.L— A—P —4521.20 — 3560

= Rs. 961.20
R — SLx100 _ 961.20x100

PxT 35603
_ 96120x100
10035603

Q12

Answer :

P =Rs 6000, R=12%, T:3years8munths:3%:%3’ears
SI — PxRxT _ 6000x12x4d4 RBs 2640

100 10012
A=P+S.L
= 6000 + 2640
= Rs 8640
Q13
Answer:
P =Rs. 12600 R=15% T = 3 years
SI— PxR=T _ 12600x15x3
oo T 100
=Rs. 5670

A = Rs. 12600 + Rs. 5670 = Rs. 18270

Hari had to pay Rs. 18270 to the money lender, but he paid Rs.

.. Cost of the goat = Rs. 18270 — Rs. 7070
= Rs. 11200

Q14

Answer:

Let the sum be Rs. P.

A28
__ S.Lf100
Now, P— =555 N :
_ B29.50£100 VN
10x3 B
_ 8395 B $ ¥ v \’<;$
-3 E T 4 \'
= 2765 s B &
Hence, the sum is Rs. 2765. \
ot 22
Q15 i é‘g’
Answer: %
Let the required sum be%z
A =Rs. 3020, R=73 %, T = 3 years
Now,
PxRxT 15x3 9
Now, S1— PRt _ zusxs _ sz
A=P+S5.1
Oz 40z +9z 489z
=T+ 0 — ] — 30
But the amount is Rs. 3920,
=> 22 _ 3020
302040 156800
=>= —4;‘ = =5 = 3200

Hence, the required sum is Rs. 3200.



Q16

Answer :

Given: R=11%, T=2 years 3 months = 2+ % = % years
Let the required sum be Rs. x.

L
ST— PuRuT  THUIXEF gop

00 7 jpoxt2, 400
A=P+5.L
- 90z _ A00z499T _ 499z
_z+4nn_ 400 T 400
But the amount is Rs. 4491.
409z

Z?WZMQI

_ _ 4401400 _ 1700400

=>r=—p— = = 3600

Hence, the required sum is Rs. 3600.
- 8I= PxRxT _ 3000x11x3 _ Rs. 1188

100 100
- Amount=P+5.1.=3600+1188
—=Rs. 4788
Q17
Answer:

But the amount

—> & 1212&@
_ 1 ).

=== = 10450
Now, SL— PxRxr _ 10ssoxsxae! _ poogng
T 100 w0exte, .
S A=P4+S.1L
= Rs. 10450 + Rs. 2508
= Rs. 12058
Q18
Answer :

P=Rs.3600 A=Rs. 4734 T=31=1 years
SL=A-P
= 4734 — 3600

_ 1134x100x2
T 3600%7

=0%

Q19



Answer:

P =Rs. 640, A = Rs. 768, T=2 years 6 months = > years
SL=A-P

= 768 — 640

—Rs. 128

_ SLx100 _ 128x100x2
R~ PxT ~—  640x5 =8%

P —Rs. 850, R = 8%, T — 3 years
- 81 = PxRxT _ 850=8x3 __ 2040 —Rs. 204

100 100 10
SA=P+S5.L

= 850+ 204

=Rs. 1054

Q20

Answer :

P =Rs. 5600, A =Rs. 6720, R=8%
SIL=A-P
= 6720 — 5600
=Rs. 1120
51100
— PxR
1120100
~ TE600<B
_ 1120
T

51
_2E years

Q21

Answer :

Let the sum be Rs. & .

Amou.ut:%

~SL=A-P=% -2

3r

5
Let the rate be R %. 2
SI— PxRxT o 4

T 100 .

L pRxs ¥ QY

B ooy, . 3
=> Jregail=- RS 50

R 3xg§-2~:§ 1yt

P
Hence, the rate of interest isxg%.

Q22 {‘,:,3‘

Answer:

Amount in 3 years = (Principal + S.1. for 3 years) = Rs. 837
Amount in 2 years = (Principal + S.I. for 2 years) = Rs. 783
On subtracting :

S.1. for 1 year = (837 — 783) = Rs. 54

5.1 for 2 years— (% x 2) = Rs. 108

.. Sum = Amount for 2 years — S.1. for 2 years
=783 — 108
=Rs. 675

P =Rs. 675, S.1. =Rs. 108 and T = 2 years

__ SLx100
R= PxT

2
108x+8-8""

-ﬁ'ﬁﬂvle

=8%

Q23



Answer:

Amount in 5 years = (Principal + S.I. for 5 years) = Rs. 5475
Amount in 3 years = (Principal + S.I. for 3 years) = Rs. 4745
On subtracting :

S.I. for 2 years = (5475 — 4745) = Rs. 730

S.L for 3 years—( 52 x 3) = Rs. 1005

.. Sum = Amount for 3 years — S.L for 3 years
= 4745 — 1095

= Rs. 3650

P=Rs. 3650, S.1.=Rs. 1095, T=3 years

Q24

Answer :

Let the first part be Rs. x.
Second part = (3000 — z)

2
..5.1. on x at 8 % per annum for 4 years = DEE &

+ gy

3000z ) %92
S.L on (3000 — z) at 9% per annum =ﬂ

-t
_ 270009z
— 20009z
. Bz 270009z N
-] Q
(mo@-h}x-%ﬁ" @
== 8= )
-5—3'5
== 16z = 27000 — 9z \
=2 16z 4+ 9z = 27000 3% .
1080
g 2EEEE 1080 \*\}
=5, \
. First part — Rs.1080 . $ O \2».
Second part — (3000 — 1080) — Rs. 1020
b .
Q25 $&¥80. Yot
Answer : R R

Let the first part be Rs. & 2
Second part -.—,(361]()—:}',:
.'.S.[.onxa.tg%f);‘;annm’]lforlwz——

e
.

3600_z
106 T

N
And, S.1. on (3600 — ) at 10 annum =

. 9z , 3600-z
..ﬁ"’ T =333

= 20 1 333
=> —z + 36000 = 33300
=> —z = 33300 — 36000
== —x = —2700

=>z = 2700

First part = Rs. 2700

Second part — (3600 — 2700) — Rs. 900



